Incorrect: ® ® ©

Answer Selection:

Correct: @

€
00O GO0GO0O® 0GO0GO 506 6o -
PPPOE 0RO BOEOO 006 6606 -
PEPEEE OPEOE OO 5060 060 °
PRORO OO 0ROEO 56006 6606
e OO OO
e PR PO
PO OO
PEEO OO
@O0PO0E® 00O BGOGO6 OO 00O
PPOEO OO 0RO ©00
PPPEE PO GOEOO D
PERORE OCRORO OEOR i
5
°
OO0 OO 0O0GO g
PPPOE 0RO OO ©
PEPEEE OO OO
PRORO OO 0ROEO ofelc
PO PO
PEE2E SN I IR OO OO
e OO
0O OO
®00® 00000 GO0 L YOO 000
PREEO 000 OGO £ 000 0O
PPEPOE PO OO g QOO OO
POROE 0ROEO EOROG 3 200 000 =
§ 000 000 (X
N o e oroeS ToOF - I R B &



